Math I Unit 3 Study Guide
Student Name: ___________________________

_Date: ______________________
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OBJ. 1: Writing Linear Functions
1.  Write a function that models the situation in the graph.(check the scale)
2. Create a function that models the information in the table below.
	        w (wristbands)
	   D(w)

(dollars)

	      0
	 -60

	      5
	 -30

	     10
	  0

	     15
	 30

	     20
	 60
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3. Ms. Morris gave the following pattern of squares to her class. Write an equation to represent the number of squares, s, for any figure number n. 
4. A cell phone company charges a monthly fee of $55 and $0.05 per minute.  Write a function that relates the total monthly charge, C(m), and the number of minutes, m, that a customer uses.
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OBJ. 2: Linear Interpretation
5. The cost of a chicken dinner special is given by the linear relationship C(s) = 2.25s + 7.00 where c(s) is the cost of the dinner and s is the number of side items ordered. What does the rate of change for the function represent?
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6. What does the y- intercept represent in the equation from problem 5?
7. What is the meaning of the x-intercept for the graph to the right?

8. What is the meaning of the rate of change and the y- intercept for the table below. 
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    Rate of Change:

     Y-intercept: 

[image: image9.emf]OBJ. 3: Comparing Linear Functions

9.  State the slope of the linear function with the largest slope.
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10.  What is the difference of the y-intercepts of the Function C and f(x).
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Function C:  12x – 5y = 25


11. What is the product of the slopes for the given functions f(x) and g(x). 

     g(x)
          f(x)

12.  Find the sum of the y–intercepts for the graph of f(x) to the right 

       and  3y = 1/2x + 9.

OBJ. 4: Parallel and Perpendicular Lines
13.  Given the line 2x – 3y = 12, write the equation of the line PARALLEL to the line and passes through the point (9, -3).

14. Write the equation of the PARALLEL line to the graph at the right and passes through the point (-5, 7).
15. Line A goes through the points (-3, -7) (-8, -5).  Write the equation of the line PERPENDICULAR to Line A and passes through the point (-6, 19).



	        X
	Y

	      0
	-9

	      5
	-13

	     10
	-17

	     25
	-29

	     20
	-25


16. Write the equation of the line that is PERPENDICULAR to the table and has the same y- intercept as 4y = 2x – 8.

OBJ. 5: Calculator Inactive
17.   Jessie’s bus ride to school is 5 minutes less than 3/7 the time of Robert’s bus ride. Create an equation and draw a graph.
18. Given f(x) = 2x – 7, describe how f(x) and f(x) + 3 would compare on a graph. 
19.  Deshawn wants to buy some cookies from the Tollhouse store in the mall. He has $20 in his pocket and the cookies cost $1.25 each.  The situation can be modeled by the function T(c) = 1.25c, where T(c) represents the total cost of c cookies.  State a reasonable domain and range for this situation. 
20. Create a graph of the line:   4x – 6y = 24.

DIRECTIONS:  Do all work on separate scratch paper.  Your work must be neat, well organized, complete, and lead to the answer you give, circle your answers.  Copy your answers to the appropriate place provided on this Study Guide.
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